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101|R#A7 L 44 4 40| Kg |EE 1,080 gl 475
102|357 L 1,105 1,105| Kg BIE 1,566 800
111|&EEF £ 157 157| Kg /Il 1,728 324
114|&5EFE 111 111| Kg I 2,754 2,000
117[1E 241 12 229 Kg |EE 2,160 540|fEfE 3,780 540
134[#= 208 108 100[ Kg |k%-&F 2,800 1,300{ A% 2,700 1,620
137|&5E3.< 4 4 Kg |BE 594

140(5 I 9 9| Ke E[AEs 37,800 19,440
158|EIEA A LS 145 145 Kg R 2,214 432
201{Lvb L 105 105| Kg K% 346

203|/hd L 44 44 Kg FE 486 432
205|3.3 L 52 52| Kg L 540

206| = 1F 440 440|  Kg e 1,339 432
207|= A K 309 309| Kg imE 4,320 405
208| Mo % 352 352| Kg X 1,728 277
212|&FE3 Y 158 158| Kg /Il 2,106 1,404
254|EDRECH 361 64 297| Keg |=ik 1,760 1,706|@ %5 1,998 702
319|&h 5 139 139| Kg =k 1,620 972
332\ @A EME 255 255| Kg b 1,944 1,080
351|H bV 30 5 25| Kg |2E 3,996 o 16,200 3,672
35415 E <Y 37 29 8| Kg |F= 1,404 1,080|= 1,404

355|%H & Y 50 50[ Kg FE 900 600
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356(L L& 35 35| Kg SER 1,512 756
357|7RE 28 28 Kg FRE 3,888 1,148
358|KE 10 10| Kg FAN 2,376 2,160
362| & 9 9] Kg FJE 1,620
401|H W 43 33 10| Kg |[|IXE 14,040 972|Z A 1,836
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RN L 60 60| Kg F 1,450 1,390
R 2O 1,101 1,101| Kg FA77 4,579 473
BRECEZV 20 20| Kg 73 1,728

S WA AR 60 60| Kg JtF 820 800
i 50 501 Kg Eles 1,296 486
R 116 116| Kg FA77 2,600 1,700
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70110 BA 1,193 1,193 Kg & 1,998 1,706
755(Fd L 30 301 Kg B 803 728
76l|1b Y AEE 12 12 Kg FarL 1,980
01 [IBAL = 1T 177 177 Kg ¥ -mA 2,862 1,049
802|1 x| 50 50| Kg gl 1,912 1,242
8051 1E 417 417! Kg == 1,080 572
810|FAKF 211 211 Kg bF 2,835 1,296
8lh|—W T AX 121 121 Kg blo ] 1,872 1,584
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